Differentiating from First Principles

Differentiating from First Principles - Edexcel Past Exam Questions S OLUTION S

1. (a) Giventhat y=2x"-5x+3, find (le—i: from first principles. [5]
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(b) Giventhat y= 2 +2x7 and % =7 when x = 4, find the value of the constant a. [4]
X

= X 2
dy o 5= T 2=
= ~ox + 2 x
¥ oy 3x ) ]
= Gx +42%x %
dy - —a(4)*+3Cu)™
CJY- x =Y
& =5 &+ 3f(’f—
(17_
= 2 +(3x)
(b
=~ + b
| b
’Elbi;q- — - K fi—(o:_’q’
* |

. o
www.naikermaths.com



Differentiating from First Principles

[5]
?'(‘) = x*=3x +4
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2. (a) Giventhat y =x*—3x+4, show from first principles that
& =2x-3
dx
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(b) Differentiate y:x%+7x/; with respect to x. 2]
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Differentiating from First Principles

3. Given that y = x* —=7x+2, find & from first principles. [5]
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Differentiating from First Principles

4. (a) Differentiate y =x*—6x+2 from first principles. [S]
P(w(\ = )(l—'()x-k?.
Cl - B £(1L+L\) - }Q(u) ”
;ﬁ T el A F("*(“)‘()‘*"‘) = @(I«J(L\) + 2
PN xA4h) = 6w 4n) L6
& ) < = ¢ -+ - 3 — + 2
e (_f ) Q [ ‘ h ]
N
= Lima }-)‘4-2);1« 2 ——/gx’-élf\ %%L+/Kx.%
(N X =
N
= B o kel gk
h— o
K
s lims Zyx + k-~ b
h=o
AS ("‘70 7 ;\—-QO ”' o’b = 27L"6
dae
-
///—
3
(b) Differentiate %+x2 with respect to x. 2]
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Differentiating from First Principles

5. (a) Giventhat y=x*+5x-2, find % from first principles. [5]
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(b) Differentiate ——2x2 with respect to x. (4]
X
: s
‘:]" 3)‘—’ "2—)«.7'
- e
=1 ()3T - (B)(R)x
dx
- 3
: ~ 3 L’SDC‘ e=—=—en
Vou can leave
2
@« T 3. rER™ Owr  amsuw ey
x* j
\;tce_ +his
e —

www.naikermaths.com



Differentiating from First Principles

(a) Giventhat y=2x*+x+3, find % from first principles. [5]
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(b) Given that [5]
y=at
X
and that % =2 when x = 4, find the value of the constant . [4]
:] )Ci + x-!
C\:l = ’I‘x’%"lcoc’z'
an  *
. = L CL‘)‘%' — I‘C"("')
a)‘ x =4 Z
£ e o
2y rs
z ! =k
“4 b

www.naikermaths.com



